TEERAMBRREEBE TSRS EEEH

NRIETY

DR ol R UN T
= 5 BEREF =7 EY
'S K ChmErm | SEETUY BUGRE | enasust

EETHLD M) WEIRA




MEABRRIFEBMELSREE ETEH

s BRETY
= B > PAY T = -
#S |k & CincErmy | B RETUT iﬁ%’ﬁﬁ",}% o RS AT
EES 250 SORRE g




FEE I BRRIFRBE LSRR EEEN

DEIERDS
5, EREF
ELDVREFH
EETHLD

NRETYF

NEREETY
77
i EDE a1
(6 HifllsE

5)

ARET
Y7y
Ze el 5t
BEIER

78

TR [ 3 W ARETYT 0.4 8
79 |FHE R ARETY7 04 8
80 |REARIGE IR FES WA ARET)7 0.4 8
81 |BEAEtL 42— BRRARETYT 0.38 9
82 |HIRME RBARETYT 0.38 9
83 |SREH AMARETYT 0.38|. 9
84 |EPABRELZ— =ZEARETIUF 0.35 10
85 |RyiRiEE ZE/RETIYT 0.35 10
86 |FBEEE ZBARETYF 0.35 10
87 |=BFE ZE/RETYT 0.35 10
88 |Mh{EE EEARETYT7 0.35 10
89 |EMADEHM A FRES E SBAREIYT 0.35 10
g0 | REERFR—FIE—BTH C—EARETUT 035 10

%)




AR FEMETER EEa

BS | F E%bﬁﬁﬁrﬁ NRETYF )gﬂéﬁgfgz% s

E;ﬁ?%ﬂb(b ) = EA
91 |FEIEAREBRK AR ERARETYT 0.35 11
92 |[FHRHAE EMRARETYT 0.35 11
93 |ZRHEF=E BARETYT 0.25 12
94 RIR/\TE i BIRARETYT 0.19 15
95 |{EIRAEEE R i BRARETYT 0.19 15
96 (EIR{ESEMEH BERARETYF 0.19 15
97 |[fRIRATLLHH BRARETY7 0.19 15




